
	Week 5 Day 1 Answers Chapter 10 lines 2218 - end of chapter

	
1)
	What is the ‘Grand Chain’?
A big circled formed with Mary Poppins at the centre while they celebrate her birthday. 
	1	

	2)
	“Then it couldn’t have been a dream at all,” said Jane emphatically 
What is the meaning of ‘emphatically’ in this context?
	

	

	

	

	X

	

	


Tick one
                                                                               
excitedly

forcefully

without doubt

confused
 
	1



	3)
	Look at lines 2263 . What does it mean the Hamadryad secret and still between them?
The means that the hamadrayd is standing so still it was almost like he wasn’t there.
	2



	4)
	Look from lines 2273-2280. Why is the Birthday different? What changes?
Because it falls on a fall moon it mean that all animals regardless of where they are on the food chain have a truce that evening where ‘the small are free from the great and the great protect the small’ therefore nooone hunts or preys on another.
	2



	5)    
	Look at line 2296. What is the purpose of repeating ‘could not tell…’?
To emphasise the rocking movement and them being swayed to sleep.
	1



	6)
	Put the statements in order from 1-5 the first one has been done for. 
	Statement

	1-5

	The children wake up having dreamed the same dream
	5

	The Hamadryad escorts the children to the Grand Chain
	1

	Them to penguin sings his poem to Mary
	2

	The children slowly begin to fall asleep
	4

	The children learn about how ‘we are all one’
	3



	1

	7) 
	Why do you think the children get confused between the voices of the animals and their parents?
Because they are being swayed to sleep it is hard to distinguish the difference as their eyes are closed and their fathers sounds like the bear as he was speaking gruffly. The hamadryads soothing voice could be confused with their mother’s soothing voice as she tucks them in.  
	1

	8)
	Did the children really share the same dream?
No because it wasn’t really a dream at all. As it would be impossible to dream exactly the same events as someone else unless you lived them together. 
	2 marks

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
	  
	True 
	False

	Mary Poppins believes the children’s dream
	
	X

	Mary Poppins wears the skin as a belt 
	X
	

	The belt says ‘A Present From Your Cousin’
	
	X

	Mary compares the nursery to a zoo
	X
	



	1 mark

	10)
	What are you impressions of Mary Poppins from this chapter? 
Friendly 		she has friends at the zoo, she graciously accepts her gift from the 					hamadrayad, jane and Michael are referred to as her friends

Well-liked 		she’s my deerie. ‘they’ll be waiting for you to take your place at the centre’ 

Use you discretion based on these examples to work out if you answers are worth 3 marks. 1 piece of evidence for each will do – ive only do more to show what other evidence you could use. 

	3






	Week 5 Day 2 Answer Chapter 11 lines 2232 - 2434

	
1)
	Why does Mary not mind looking in the window first?
Because what she liked doing best of all was looking in ship windows at her own reflection. 
	1	

	2)
	“I don’t mind,” said Mary Poppins with surprising mildness. 
What is the meaning of ‘mildness’ in this context?

	

	

	

	

	X

	

	


Tick one
                                                                               
warmth 

calmness

gentleness

severity
 
	1



	3)
	Do you think children have bought appropriate presents? Explain. 
No because they have bought presents that they themselves would want, not that other people would want.
	1



	4)
	Why does Michael try to flatter Mary Poppins on line 2377? Is it effective?
Because they want to stay longer in the toy shop. It is not effective because although she likes it she doesn’t fall for it
	2



	5)    
	Why does Mary say ‘My gracious, goodness, glory me!’?
Because the child before her has practically no clothes one
	1



	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	Mary Poppins ‘wrenched herself away from her glorious reflection
	2

	Mary Poppins has a disagreement with Father Christmas
	5

	The children beg Mary to stay longer
	6

	They all look in the window first
	1

	Jane chooses a pram for her mother
	3

	Michael chooses a packet of hairpins for the twins
	4



	1

	7) 
	Look at lines 2393-2398. Why is this scene amusing?
Because the girl is running round and round through the spinning doors wearing nothiern but a wispy strip of blue stuff 
	2

	8)
	Who is Maia? What evidence do you have to support this? 
She is a star come down to earth do some Christmas shopping, we know this because she refers to her sisters and brothers as other stars and tell the children they’ve seen her before when their father was pointing out constellations.	
	2 mark

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	Maia has 7 brothers and sisters 
	
	X

	Mary Poppins enjoys Christmas shopping
	
	X

	Maia was wearing a dress
	
	X

	The children were hiding behind a tree
	X
	



	1 mark

	10)
	Why has Maia come down to earth?  Do you think this is usual behavior?  
She has come down to do her Christmas shopping. No I find it hard to believe that stars can take on human form and come down to earth to Christmas shopping. 
	2

	11)
	How would you describe Maia’s character? Use evidence from the text to support your answer. 
Giddy/excitable, she’s very excitable she runs round the revolving doors, she jumps out them and runs to the children joyously. She dances around the children and runs backwards and forwards to them. She is also the type of person who doesn’t notice what other people think about her, there are people watching her, gasping and she doesn’t pay them any notice.
	3






	Week 5 Day 3 Answers Chapter 11 lines 2440– end of chapter

	
1)
	Why are the shoppers standing in astonishment?
Because there is a half dress girl walking through the shop and its cold outside. 
	1	

	2)
	“Well, I’m jiggered!” said the Policeman, staring upwards, and scratching his head under its helmet.
What is the meaning of ‘jiggered’ in this context?
	

	

	X

	

	

	

	


Tick one
                                                                               
exhausted

astonished

broken

bored
 
	1



	3)
	Explain why the gifts were free of charge.
Because she is a star she gets them free of charge 
Inference: she uses magic to charm the assistant into letting them be free. 
	1



	4)
	Explain why Maia’s choice in gifts was better than Jane and Michaels earlier in the chapter. 
Because they are thoughtful and what people might actually want rather than what the children want
	2



	5)    
	Why is Jane worried that Maia has no gift? 
Because she has got everyone else gifts but has nothing for herself so Jane doesn’t want her to be left out
	2



	7) 
	Explain why Mary giving Maia her gloves as a gift was an important gesture.   
Because they were new gloves and Mary takes such pride in her appearance that to give something she loves to someone else shows a real act of kindness
	2

	8)
	Look at line 2514 why is the speech written in this way?
Because its showing the policeman’s accent
	1 mark

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
	  
	True 
	False

	People pay no attention to Maia
	
	X

	The Policeman was angry with Maia
	X
	

	Maia was stopping traffic
	
	X

	The assistant helped them choose gifts
	X
	



	1 mark

	10)
	Knowing what you know about Mary Poppins, explain your understanding of line 2537-2539. Support your answer with evidence from the text.
This shows that Mary Poppins has emotions other than being cross with the children. She is wiping she has tears in her eyes here, therefore showing she is sad to see Maia leave and that is why she snaps at the policeman as she is astonished as well. 
This shows a completely different side to Mary that we’re used to. This is much gentler version of her, that only the twins get to see. An answer along these lines with support evidence will gain you 3 marks. 
	3




















	Week 5 Day 4 Answers from Chapter 12 lines 2554 - 2632

	
1)
	How do the children know it’s the first day of spring?
Because Mr Banks is singing in the bath. 
	1	

	2)
	She had just sown a row of radish-seed when she heard a great commotion in the Nursery
What is the meaning of ‘commotion’ in this context?
	

	

	

	

	X

	

	


Tick one
                                                                               
uproar

disturbance

chaos

confusion 
 
	1



	3)
	Did Mr Banks lose his bag? Explain with evidence from the text
No, he simply forgot he took it to the study to do the income tax papers
	1



	4)
	The children are startled that the wind is in the west. Why is this? 
Because they had a thought in their minds that they wished was not there, as they’ve remembered something about the wind Mary had previously mentioned when she started working with them.
	3



	5)    
	Look at line 2587. Why is Michael crying?
Because mary poppins is showing him kindness and gave him the compass, she’s never given him anything before
	1



	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	Mary Poppins was on the front door step
	6

	The nursey clock was ticking loudly 
	5

	Michael wanted Mary to be cross with him again
	4

	‘Where is my BAG?’ shouted Mr Banks
	1

	Mary gave Michael the compass
	3

	Mr Banks doesn’t take his overcoat
	2



	1

	7) 
	Why do the children want Mary Poppins to be cross with them again?
Because her being kind is out of normal behaviour for them, they knew it meant something was going to happen. If she was cross hen everything would be as it should be.	
	2

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	The children looked out the window
	X
	

	Mary opened her umbrella because it was raining
	
	X

	Mary Poppins lied to the children about taking down the shoes
	X
	

	Mary Poppins was gone for a very long time 
	X
	



	1 mark

	10)
	Look at line 2600. Explain your understanding of this line
Michael has a feeling about Mary, because she gave him the compass and she is being nice. He worried that something is going to happen but knows he has a bad feeling also. 
	2

	11)
	In the text it seems to be a normal day but at the same time it does not. Can you explain both sides of this with evidence from the text. 
It is normal day because their father is going to work and looks at admiral booms weather cock as moral and ‘everything seemed as it was’ however it isn’t because Michael is given the compass, she tells jane and Michael to wait for her, mary hasn’t said a cross word all afternoon. 3 marks will be given with sufficient evidence to support the points above of those similar. 
	3 marks





	Week 5 Day 5 Answer chapter 12 lines 2638 to end of chapter

	
1)
	What is happening at the beginning of this extract?
Mary Poppins is leaving
	1	

	2)
	Simply said, ‘I’m going!’ and off she went. Anything more preposterous, more thoughtless, more discourteous 
What is the meaning of ‘preposterous’ in this context?
	

	

	X

	

	

	

	


Tick one
                                                                               
foolish

absurd

strange

unusual 
 
	1



	3)
	Why do the twins begin to cry?
Because they too realise mary is going – also they are probably realising that jane and Michael are upset and picking up on their emotions. 
	2



	4)
	What do you think the important of the words To Meet Again is on line 2706?
Because it doenst mean goodbye, Mary isn’t saying goodbye forever to the children, she means she will see them again.
	2



	5)    
	What does Mary Poppins leave for Jane?
A portrait of herself done by the Match-man
	1



	6)
		Put the statements in order from 1-5 the first one has been done for. 

	Statement

	1-5

	Jane tucks Michael into bed
	5

	Mrs Brill helps the children undress
	4

	They hold the twins up to the window
	1

	Michael says his mother is a very cruel woman
	3

	The children call for Mary Poppins to come back 
	2






	1

	7) 
	Look at lines 2675. How do you think Mrs Banks feels here? 
Hurt because he children are being mean to her and saying the only person they want is mary poppins when she is their mother.
	2

	8)
	Mary Poppins was cross or harsh to the children most of the time. Why do you think Michael asks his mother if she’s coming back?
Because she has been looking after them, has taken them on many an adventure and although she was cross with them it mean they got the discipline they needed and became better people because of it.
	2mark

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	Mrs Banks was pleased to see Mary go
	
	X

	Mrs Brill wanted to be a nanny
	
	X

	Jane lets Michael have her photo
	X
	

	Mary always does what she says she will 
	X
	



	1 mark

	10)
	Mary Poppins said she would stay till the wind changed. Do you think she meant this literally? Explain with evidence from the text.
Yes mary did mean this literally, usually this is used a figure of speech but she literally wen when the wind changed. She arrived with and east wind and left on a west one. This could alo be taken metaphorically meaning she will leave when her work is done, therefore once the children were better behaved and she has accomplished all she needed to she would also leave.  Evidence needs to support the above or similar statements. This can be taken from this chapter and from the first one. 
	3
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